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Graphical cut check
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KL3piO

e ffevents
— Run62 : 421909 -> 13310 [Kin. Cut]
— Run69 : 442745(1.05) -> 15289(1.15) [Kin. Cut]



Run62
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1.05->1.15 in kinematical cut?

Graph
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HIST_i = distribution with Cut i / no cut
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1.05->1.15 in kinematical cut?

Run62 HIST i = distribution only without Cut i / all cut
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Ratio of events after each cut

HIST _i = distribution with Cut i / no cut HIST _i = distribution only without Cut i / all cut

0.9

0.8

0.3

Blue : run62
Red : run69

TllllllllllllIIII|IIIIIIIIIllIIIlIlIIlIlIIlII o IIIIII|lIII|lIII|IlIIlIlIIlIIlIlIIlIlIIIllII

o 1 2 3 4 5 6 7 8 o 1 2 3 4 5 6 7 8



a8

a.6

a.4

a.z2

a.z2

a3

a.s

a.6

a.4

a.z2

Graph

HIST i

SN RLRERRRE RN RRLE RN LR A

aso

<00

<50

500

Graph

550

00

&850

SN RN LN AR LR AL AR LR AR

:
aso

<00

450

500

550

S00

S50

Run62/Run69

a8

a.6

a.a

a.z

Single Cut

Graph

distribution with Cuti / no cut
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Run62/Run69

Partial Check

Graph

istribution only without Cut i / all cut
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Run stability

KL3pi0, Minimum Bias data(CsIET Trigger > 800MeV in offline, 650MeV in online)
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Energy Deposits on MB (revised)

Modification of MB energy deposits

Normalization data in run69 If( HitZ > GeomMB )energy = PMTenergy
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Kaon beam S|ze check
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Beam size after Kinematical cut
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beam size effect check

GenEndPos{0][1]:GenEndPos[ojjo] X : ~20mm

h

- Entries 6966
-_ Mean x -20.44
- Meany -0.01406
= RMSx 2224
= RMSy  26.97
- - —ls
- —6
= —4
- 2
: L1 1 I L1 1 I L1 1 I I i | I L1 1 I L1 1 I L1 1 I 11 1 l L1 1 I L1 1 0
00 -80 -60 -40 -20 0 20 40 60 80 100

Beam2D
- Entries 285
C Mean x -19.9
- Meany 0.5165
- RMS x 21.28
— RMS y 26.84
:_ - 3 —1.4
— —1.2
— - i —1
— - i "a —0.8
= S 0.6
= |
:_ 0.4
:_ 0.2
:1 TN N N T T T T T N A T T TN AT T T N A T T T Y 0
00 -80 -60 -40 -20 0 20 100

GenEndPos[0][1]:GenEndPos[ojjo] Y + ~20mMm

h
100
- Entries 6810
80— Mean x  0.2899
= Meany -19.72
60— RMS x 21.45
= RMSy  26.68
40— )
C —8
20—
o —6
-20—
C —4
-40—
-60—
-80[—
1 o - 111 I 11 1 I 11 1 I 11 1 I 11 1 I 111 [ 111 I 11 I 111 I 11 1 0
—q 00 -80 -60 -40 -20 0 20 40 60 80 100
100 Beam2D
- Entries 315
80— Mean x 2.206
o Meany -18.36
60— After cut RMS x 21.44
- RMS y 25.85
40 —1.4
20— - —1.2
o L —
20— o —038
40— u 0.6
- " N
60— - s 0.4
-80— 0.2
__10 - 11 1 I 111 I 111 I 111 I 111 l 111 I 111 l 111 [ 111 I 111 0
-q 00 -80 -60 -40 -20 0 20 40 60 80 100



o4

oR

on

on

vertex

PP IS BN A B A B AT B et
423 443 R 483 <3 f=21 Tl Tad 43 a

nCutRatos
VAT IVORS
e 7
Noar 223
R a2

.Illll]lllllllllllllllllll]

T ]

i
L4 55

T TVORTT

L LAY ALY L L ""I"l

ania
L4 kS

Pi0O mass difference

PP PR B RS T PR PR PR T ey
Ri s L ) EiC NN B o s g e 13

5g+1g cu

o6

1
LIVORTY
== Too =
3 aTa
e L5 87
PP IPEPIPE EPIPIPEE IPEPIPS BPIPIPE IPEPIPE BPIPIPS PRI PP IRy
3 4va 43 S T~ RN o TA3 a3 &3 2

TV ORSY

.
£4 13

TIVORTT

T
L4 4

nCutRato 10
VA IFORT YT
e =T
Moar axad
s 15 &=

t status

M atRatiol
— o
=
awarz
£5 3>
.
M atRatos
v
os _‘l
“adis
a3 ot 2
on
Csl fiducial
o
B dassd s daas Jaagd,
atRatos
-
-
£4 3%

PiO mass
ot
A b Lol oaa b aadaos baag

HIST_i = distribution with
Cuti/ no cut




5g+1g cut status
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Vertex Time

* After applying all kinematical cut,

— Distribution of (Mean Vertex GammaTime —
MBVertexTime)
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* Hard to reject bad-pair events using vertex
time




Vertex Time difference vs ModID
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Vertex Time vs ModID
Run69 MB

MBMod:MBVTZTime-CsIVTZMeanTime {KLmass>0&&MassTag>0&&CulBit==0}
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Vertex Time vs ModID
Run69 IB

IBMod:MBVTZTime-CslVTZMeanTime {KLmass>0&&MassTag>08&&CutBit==0}
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Run62 vs Run69 IB
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summary

e Similar behavior of Kinematical cut of KL3pi0
* Bad calibration to MB in run69



